n’f

-§-

Write the coordinate

s of each point.

Name

~Unit 8 Study Guide

E 3

g~z 1
J iy

-

Plot each point on the coordinate plane,

DA (3,?)

5) A(8,10)

6) B(2,0)

3JH {C,~%)

NE (-3,5)

7) C(5,-3)

8) D(0,-6)

Name the quadrant of axis that contains each point.

9) (7,0)
Y-on1S

10) (-7, 3)

I-

11) (0,5)

3-~axi5

12) (-1,-5)

pIIR

S

s wnderrgar g,

Find the Distance

13) JandI

7

14)Dand ]I

b

15) Cand K

G

16) Cand F

8
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171 A girﬁffe walked from [6,@ to (6,6) |18) Aleopard leaped from (7,0) to (-4,0)
to (-3, 6). How far did it walk? to (O,OJI.—‘HOW far did it leap?
23 5

19) Reflect over the x-axis, then over the y-axis.

Graph Rectangle RECT with vertices:
R 2}, E(2 4), C(6 4, T(6, 2

" Reflect pre~image | Refleet new image
over the x-axis: over the y-axis:

' Y
1 i;' a{q
& r
* -3 B =;<
= L4 gy 4 7—"
e =1 . )i
A ET <
=

20) A 15 foot tree casts a 40 foot shadow. How tall is a building that casts a 60 foot

shadow? ' 15 A
i5 A — T GO

0 Go 2.5
21) Emmy is enlarging a 3x5 inch photo by a scale factor 2.5. What would the
perimeter of the larger photo? e
S T Ty,
L J 2.5

S S S




22) John has two job offers. He wants to take the job with the highest pay. Company A
is shown in the graph. Company B will use the equation P = 10.50h, where p=pay and
h=hours. o

How much would John make with company A for 25 hours?
23) Based on the equation, what is the constant of proportionality?
]G, 50

24) Which company would pay the most?

25-27) Determine the Slope of the Line

1
T A RS
. 3..”% - "_’*_\.\
TH T PR
o \KN“_.
4 SR Y
28-30) Find the Slope.
N Ay AY _ &Y
& ¥
- -k s
ms= 5_3 T =
e m=_ b m =




31-36)

{7. ) and (7, 8)
s 1
7-7 ¢

= _undefned

(-2, 2)and (3, -3)
B (i)

-5

5

-

m=_

(-5, 4) and (-1, 11}

1 e

P69 H
L,

.

me=

{1, 2) and (3, 6)

L2 - %

(2, 6) and (4, 0)

(8, -4) and (-6, -4)

~Ye(i) o

31 -

S

M

me=

e

o

m=

37-39)

) =3

x| 1|23

4

Bane

12

15 |

45 | 40

()28 -

-3 .3 )
2-1 |\ m=.

Jw‘ﬁ)(_"*" ,wu)

mw..z.,“._“_

ONzw) | 2

bk O
2-0 2

| -3
L2

19
! “'_'24

..-5 1.WJ

=q (4.

-4 1 6 L -6 | -4 i 5 2

2 | 6 | 5 ¢ -9 ey 50 e

0 | 6 | 530 ds | (o) fs 16
6 5 8
6 5 10

i
i
J‘
{
i
l

40) 2X—3y:6

41) K+7y_ -14

i

]5?“ TRy =

Qj H.z&

.
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42) Slope: 2, y-Intercept (0,-4) ES . ;ZX ) T

43) Slope %, y-intercepts( :j = T—IK -—l~5 : \’ =~ 'C{“ T 3

I EI b R n?
44) m = 3, passes through point [)8(,1\)/ (j m(X) g h= 23
| = 2(8)t —

124"
45) m = 1/3, passes through point (-3, 7) J . rzcxg;?_b = b s = \
3 § 8

46 49) erte the equatlon ofthe graph in SIOpe mtercept form

: 7& 1 _ N f_ ' -
ﬁﬁ ‘— / : \ ] H - U - H
é )( Y |
Tr o= m -5 T ¢ = b4
u = K kol b= Db /5,. %x \,‘j L
Graph the Lines of the Equations.
W
50)y=4 C\‘\‘j‘ 51) y =5/3x 52)y=-6x-3
21 1
. [ A R
/ T ,
L/ | -l
: . o | et !
; ] ] -’ ‘ \
W ,
/ !
‘ L \
/ A
! \




